4 PEAKTRONICS MK T-184

Actuator Controls Mounting Kit

ASSEMBLY DIAGRAM Bray S70-13, -18 Actuators

NOTE: Remount existing terminal
strip using screws "G". POT WASHER

oL m( O
oL ) O
b m) O
5 O

=
|
‘|”||||||||||||||||\|\||\|\|\||\|\||||||||||||\||“

STANDARD
CONTROLLER

{\

POT HEX NUT

POT LOCKWASHER sgog

TRANSMITTER

omd M

FEEDBACK
POTENTIOMETER

ACTUATOR

www.peaktronics.com
Clawson, MI 48017 Phone (248) 542-5640 FAX (248) 542-5643

PEAKTRONICS, Inc. 1363 Anderson 800-193A page 1



MKT-184

KIT CONTENTS

O m—
il

m

T o
D

ITEM QTY DESCRIPTION
A 1 positioner bracket
B 1 potentiometer bracket
C 2 0.75" hex spacer
D 6 #6-32 x 0.375" pan head screw
E 4 #6-32 x 0.25" flat head screw
F 3 #4-40 x 0.56" socket head cap screw
G 1 #6 flat washer
H 6 #6 split ring lockwasher
I 1 potentiometer gear
not shown 2 12" yellow wire with spade terminal
not shown 2 butt connector (for red and blue motor wires)
not shown 7 6.3" nylontiewrap

www.peaktronics.com

PEAKTRONICS, Inc. 1363 Anderson  Clawson, Ml 48017  Phone (248) 542-5640 FAX (248) 542-5643 800-193A page 2



MKT-184

9 O,
w_ NOWINOD AV13d
._w © 1NO LINv4
=] Hm 1N0O N3IdO XNV
(euondo) ainpoN Aepy/ieniwsiell 00T-H10 | 2 ®
(feuondo) aNpo A Jeniwsuel] QOT-X10 1NO 3SO10 XNV
@ aNo© 1VYNOIS
© ndno v | Jojuow
A%eqpas) | —
........... @- ndino A I+
3dIY3INO n_/o MOTT3A @ n @ NAdINo AST+ *JoYebo) pa15suuUod
IVANVIN  ON O) 3( Ued spunois) B10N
ON© MOTT3IA @
ndino NG+
© ©), e 6
d313NOILN3LOd a3y NOT/E0 AST % + _ucwmi_hwoo _
xmwmm_mww_”_ ALIHM © ©® YWoZ-
Aovd @ @ aN9 TVYNOIS
O, ®©
‘Uado pue 8s0o JO UOIRI]IED LIWIM3s0710 a3y 5 5 aNoD H1dV3 Q
Burnnp s A|ea1RWOINE 4 4
s1 Bunoe askenal 1o Bunde 19011Q THA 0T ANIT T ;
LINIT N3dO 3aNnTd @ @ IVdLN3IN 271
c ar
J10135UU02 1IN = &
VYO0T-OHA DJVAvrES
00T-OHA OVALIT
si0enY 8T0- ‘€T-0/S Aeig NVHOVIA ONIFIM

SHANOILISOd 1V1I191d OV

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-193A page 3

1363 Anderson

PEAKTRONICS, Inc.



MKT-184

ONILOV ISHIAN3IY

uolow Joreniae

Yyuwioe

d313NOILN310d
Movadd3d

¢0T-10d
MOov9

JLIHM

a3d

LINIT N3JO
ON

N9

REVNE N Ic|

3 a3y

LINIT3ISOTO

(teuondo) Rliwsue.) alim 0}
HALLINSNYYL | S°4M c0T-10d SS80xe &8N
Movaa33ad
ONILOV 1D03d1d - NOT/G-0 90T-VIANX
LM — + YWz SOT-VINX
uoljow Jorenide ®®®®®
Joliuow
JLIHM +| ~oeqpsey | —
Movd a3y
Ywioz
d313NOILNT1Od
Yovaa3ad ® g
2¢0T-10d
a3y © © indino AOT+
JLIHM L 25, © NOT-0 4 pubs | U
/@ @ ._ +| puewwos [
Movd Ywoz-v / AS-T
LINT S5O0 Q8 B ERITEIS
ON
a3y ®© ® AND HL1¥V3 Q
T3A 10 M1d @ @ INI T \;
= anig © © IVELN3AN 271
LINIT N3dO Ir 7
J10108UU02 1IN = &

HTOT-Od1 / d101-04d71/ JT0T-ONV DVAVEC
OT0T-04d71/ VIOT-O4d1/ VIOT-OWV DVALIT

SI0eNPY 8T0- ‘€T-0/S Aeig

(prepuers) SYIANOILISOd I1vY 9071/ D0OTVYNY OV

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-193A page4

1363 Anderson

PEAKTRONICS, Inc.



MKT-184

A_GCO_HQOV "eniwsuel] allim 0]
ONILOV ISHIANTY ONILOV 10341d YILLINSNYYL | S84!M 20T-10d Ss80xe 8sN
.v_o<mommu+ AOT/S0 90T-VINX
S ovadm S ovam [10)%1%%) B
20T-10d 20T-10d P~
Movg a3y | >oeapes)
ILIHM JLIHM a3d
Movig
a3y MoV g
@ ] ndino Avz+
Wy aNd TVYNDIS £
uoljow Jorenide uolow Joreniie @ AO|_ O<\Oﬁ_v N3IdO d w
@1 orovoa =06 mo_w:cw 3 m
© (IH OV) N3do = w
N3dO N3dO © (IHOV) 3S010 - W
O —onwnoo a0 |
LINIT N3dO LINIT 3ISOT10 @
®
©
O
ar

NOWWOD 3SOT10 ~

ON ON
S -
N9 a3y O dNO H1dVv3
T3A 10 M19 713A 10 Mg @ ANIT T
U d
N a3d N 3aNnd O TvdL1N3N ¢
LINIT3ISOTO LINIT N3JO T

800-193A page5

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

J0308UU00 1NQ =[] VEOT-INV DVAPEC

E0T-INV OVALIT

SIoBNPY 8T0- ‘ST-0/S feig ANVHIOVYIA ONIFIM

Sd3110d1NOD 440/NO OV

PEAKTRONICS, Inc.



MKT-184

JRNIWSURI] 1M 0)
H3LLINSNVHL | sanm g0T-10d SS90%0 asN
ONILOV ISHINTAH ONILOV 10341d OYaa334
NOT/S-0 90T-VIAX
Y31IOILNILO Y31IWOILNILOd LM — A+ Ywioc-¥ S0T-VINX
SIOvEdIa4 Sovaa3aH 21%1%1%]%)
¢0T-10d ¢0T-10d Joruouwl
MOovd a3y 4| >eqpse)
ILIHM ILIHM a3d
Movd
a3y Mov1d
g
® 7
uonow Jorenioe uonow Jorenioe ndino A+ o
c
© 5
® g
® :
NOT / AS |/ YuocZ NOT / NG | YWQOZ
® () ano
® aND H14V3 Q
© ANIT T ;
© A IRENYA
ar

800-193A page6

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

VZ0T-dMd DV AYEC
c0T-dMd OVALTT

SIoBNPY 8T0- ‘ST-0/S feig ANVHIOVYIA ONIFIM

(poemod) SHI1 1 INSNVH1L MDvda33ad

PEAKTRONICS, Inc.



MKT-184

ONILOV ISHINIA

d313NOILN31Od
Movaad3d

¢0T-10d
Mov4

ALIHM

a3d

uoljow Jorenide

NOT / AS / YWOC

*RIWISURI] 31IM 0]

31 1IANSNVYHL | salim 20T-10d SS9axe asn
ONILOV 1034d1d SOvYaa3ad
NOT/G-0 90T-VINX
Y3L1IWOILNILOd NSL M — + YWOZ-v SOT-VINX
S0ovaa3a- 21%1%%]%)
20T-10d (xew Azg)
a3y + Addns g T=
JLIHM °
Movg
Joyjiuow
+ | deapsey [ —

uolnow Jorenide

NOT / NS | YWOZ

SI0eNPY 8T0- ‘€T-0/S Aeig

(posomod Ajreuor®) SHIL1IINSNVYHL MOvaa3ad

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-193A page’

1363 Anderson

PEAKTRONICS, Inc.



MKT-184

J0T-VINX
Y3LLIANSNVHL

ONILOV ISHINTS ONILOV 103dId OYaaaa4

H3L1INOILNILOd H313NOILNILOd ¥ HM T8/ +
S0OvaaIaH SIOvaaIaH 2)%1%, -
NYAL a3y Aiddns 0@ 8
C
ILIAM =TI 2
Jojiuow w
a3y Movg Jeqpae ) 3

uolow Joreniae

vwioe

uonow Jorenioe

Ywioe

800-193A page 8

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

SIoBNPY 8T0- ‘ST-0/S feig ANVHIOVYIA ONIFIM

(peJsomod doof) Y31 1 INSNVH L MDOvaa33d

PEAKTRONICS, Inc.



